Ova konjugatregeln

Definition: (a+b)(a-b) = a2-ab+ab-b2= aZ -b2

Exempel: (x+4)(x-4) = x2-42 = x2-16

Anviind konjugatregeln som i exemplet ovan

(x+)(x-1) =

(X+2)(x=2) =

(X+5)(x=5) =

(x+10)(x—-10) =

(2x+1)(2x-1) =

(2x+5)(2x-5) =

(X* +4)(x* - 4) =

(x> +X)(x* = x) =

(x+2)(x+2) =

(x+1)° =

(x+5)(x=7) =

(X+2)(-x+2) =

(x=2)(x+2) =




Anvdnd konjugatregeln "bakldnges”

x*—1=

X* -9 =

16— x* =

9x* -81=




|Facit

(x+)(x-1) =x*-1

(X+2)(x-2)=x"-4

(X+5)(x=5)=x*-25

(x+10)(x —10) = x* =100

(2x+1)(2x-1) = 4x* -1

(2x +5)(2x —5) = 4x* - 25

(X2 +4)(x*-4)=x"-16

(X2 +X)(X*=x)=x*-x*
(X+2)(x+2)=(x+2)> =x*+4x+4

(X+1)° = (X+1D)°(x+1) = (> +2X+D)(X+1) = X* + X* +2X" + 2X + X +1= x>+ 3x* +3x +1
(X+5)(x=7)=x*-7x+5x-35=x*-2x-35
(X+2)(-x+2)=2+xX)(2-x)=4-X%X°

(X=2)(x+2)=(x+2)(x-2) =x* -4

I Anvdnd konjugatregeln "bakldnges”

x> —1=(x+1)(x-1)
X —9 = (x+3)(x-3)
16—x* = (4+X)(4—-X)

9x*—81=(3x+9)(3x—9)
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